32B Lect. 3 Midterm 1

First Name: ___
Last Nome: [
Section: [N

January 31
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Rules.

Tuesday with Allen Boozer
Thursday with Allen Boozer
Tuesday with Steven Gagniere
Thursday with Steven Gagniere
Tuesday with Francis White
Thursday with Francis White

e There are FOUR problems; ten points per problem.

Try to sit still.

Turn off your cell-phone, pager,...

There is an extra page at the end. You may also use the backs of pages.
No calculators, computers, notes, books, crib-sheets, ...

Out of consideration for your class-mates, no chewing, humming, pen-twirling, snoring,...
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(1) Determine the average valye of hird

: fey) =30 +2y ——tt
over the region where 1 < 4 S2and0<y<3 ¥

- e

u,\ A
Y d

OM“
W] sy

i

3
3**2\1 de dy S
ginans SS < L

| iy P
| L LY PN XL&‘ J’\'
\
a
A !
- '3,(0*‘*1"7-"7"1\0‘\1 S%*I‘M
o 7 3 1
g LI
7 27 x\%

:
7
5
b
i«




e—(@+y?)/2

P2,y) = ——

2

ran i
865 over the entire plane. Determine the median of X2 HI
[
s = (s« *
[ b alol
o

w\ﬂ—"{ﬂ: \ /1\
a4y

*C;AA o~n ("’ b

s
; . ’ !l‘,‘x'b‘—‘
\\1 e, e XLQ‘Y"-‘? r‘l— &5 6““&0..

; nyldus "Elee !t

o 7

Where (z, )

Cind m,

o Pl cosrdianie

)
2.” 7 qf

Aduz ¢ AC

] - :
Es LU
\ m s |
: -4 S e, * o \WAd8
J S°\\:\& r4®

1§
\
e
o~
Fe ]
E
i3
]
==
i3 )
]
p 1 Y
3
1]
el-
<
r
\1




(3) Evaluate th i
e followmg by Teversing the order of integration

Loy
; : §1 il
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